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FORC=1TO50
CLS
Print "Amman" ,
Next C

Print "Jordan"
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CLS

Print "Enter name, mark:";
i

Input X$ S 1,

Input M, i

s
End~®
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step 3 s};.-‘ LM

Forl=1to 30

I=1+2
Print I
Next I
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IFN>0ThenX=N\5
IFN=0ThenX=N+5
IF N < 0 Then X = Fix(N/5)
Print X
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INPUT R, R$
INPUT r, r$
CLS
M=Rmod4/2
S$=R$ +1$
rem Print sqr(N)
Print M, S$
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X=3

Print fix(X — 0.25) "2,
Print Int(2 * X + 5/ 2);
End

2)

n=4

FOR n =sqr(n) ton — 1

Printn \ 2
Next n

3)

rem print A = 2 A2
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s

IF A = 2 then End else a =8 o
Print a$ , a mod 3 s
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4) NG
FOR X =2 to “ﬂg«step cint(X/2)
IF X mod}f: 0 then x = x * 5 else CLS
Print *55,
Next X
5)
FOR t =5 to —10 step —5
Print abs(int(t / 2))
NEXT t
End
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